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assignment.
How to access 1) Which of the following is correct? 1 point
the portal
Lead time is minimum in case of make to order.
Week 1 o .
Lead time is minimum in case of make to stock.
Week 2 Lead time is minimum in case of modular products.
All of the above
Week 3
No, the answer is incorrect.
Week 4 Score: 0
Some Specific Accepted Answers:
Order Winners Lead time is minimum in case of make to stock.

and Qualifiers Il
2) Which of the following is most appropriate? 1 point

Some Specific
Order Winners
and Qualifiers
1] Lead time is highest in case of make to order.

Lead time is highest in case of design to order.

Some Specific Lead time is highest in case of engineer to order.
Order Winners
and Qualifiers(
non operation

related criteria)

Lead time is highest in case of make to stock.

No, the answer is incorrect.

Score: 0

Developing an Accepted Answers:

Operations S . .

Strategy : Lead time is highest in case of design to order.

Methodolo . . — . . . .
oy 3) A hydro power plant is to be developed. Which of the following is a suitable option for this 1 point

Developing an project?

Operations

Strategy Make to order

Quiz:: Engineer to order

Assignment 4
Design to order
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Week 8 Responsiveness means ability to respond for changing volumes.
Responsiveness means ability to respond varying lead time requirements.
DOWNLOAD
VIDEOS Responsiveness means ability to respond varying needs of customer.
i All of the above
Interaction
Session No, the answer is incorrect.

Score: 0

Accepted Answers:
All of the above

5) Which of the following is correct? 1 point

Lead time reduction may lead to extended product life cycle.
Lead time reduction may lead to high profit margin.
Lead time reduction may lead to increased market share.

All of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:
All of the above

6) Which of the following is correct? 1 point

Innovation is related to new product development.
Innovation is related to improved processes.
Innovation is related to developing new business models.

All of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:
All of the above

7) Which of the following is correct? 1 point

Brand is an important order winner and qualifier.
Continuity is an important order winner and qualifier.
Innovation is an important order winner and qualifier.

All of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:
All of the above

8) Which of the following is correct? 1 point

Strategy development is an iterative process.
Strategy development is a liner process.
Strategy development is a circular proces

All of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:
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Strategy development is an iterative process.

9) Which of the following is correct?

1 point

A functional strategy can be market driven.

A functional strategy can be market driving.

Both (a) and (b)

None of the above
No, the answer is incorrect.
Score: 0

Accepted Answers:
Both (a) and (b)

10Eliminating wasteful activities from the process will result into....... 1 point

Reduced costs
Reduced lead time
Faster delivery

All of the above

No, the answer is incorrect.

Score: 0

Accepted Answers:
All of the above

Previous Page

End

Thursday 20 June 2019 05:44 PM



